master

equipment

for professional groomers

TP6293 95 ¢ Master Equipment®
Easy-Lift Grooming Table Assembly Instructions

Parts List:

A. Table Top (1)

B. Pump Base (Includes Gas Spring) (1)
C. Table Base (1)

D. Large Plastic Washer (1)

E. Washer, Spring Washer, & Nut (3) ¢
F. Small Washers #8 (4) L)
G. Nuts #8 (2)

H. Hexagon Bolts #8x15mm (4) A
I. Grooming Arm (1)
J. Allen Wrench (1)

Tools Required: OO ololol®
Standard Wrench (Not Included) Qo
Allen Wrench (J) D E F

Assembly Steps:

A

% .
1. Attach the control switch for the gas
spring on the pump base (B) to the
notch on the pedal from the table

base (C).

2. Insert two Hexagon Bolts #8x15mm (H)
into holes through Pump Base (B) into
Table Base (C). From Underneath, add
Washers #8 (F) and Nuts #8 (G) to each
Bolt and tighten using Standard Wrench
and Allen Wrench (J). Tighten under-
neath with Standard Wrench.

5. Place the Table Top (A) onto the top of
the top of the Pump Base (B), sliding
the bolt through the Plastic Washer (D)
and the top of the Pump Base (B) as
shown. Put the Washer, Spring Washer
and Nut (E) on bolt of Table Top (A).
Tighten with a Standard Wrench.

4. Place the Large Plastic Washer (D)
onto the top of the Pump Base (B).

\

3. Insert two Hexagon Bolts
#8x15mm (H) into holes from
bottom of Table Base (C). Tighten
with Allen Wrench (J).

-ib‘

N J
6. To raise and lower table top height,
securely hold the table top and press
pedal on base. Use arm pressure to
lower or lift table top to desired
height. Release foot pedal at desired

height. To avoid risk of injury, do not
raise or lower table with pet on table.




Please Note:
1. To avoid risk of injury, do not raise or lower table with pet on table.
2. Please carefully read all instructions in the manual before installing
and using the grooming table, and keep this manual properly.
3. Intended for pets only, any other purpose is prohibited.
4. Keep grooming table away from the fire.
5. Do not allow unsupervised children to play near or operate the table. =~ Caution: Keep grooming table away from fire.
6. Tighten the regulating screws to make the grooming table stable. Dismantling the Pnuematic Spring is dangerous!

LIMITED WARRANTY

This Master Equipment® Easy-Lift Grooming Table is warranted against defective material or workmanship for one year from the date of purchase. Any Master

Equipment® product that is determined to be defective in material or workmanship during the warranty period will be replaced without cost to the purchaser for parts or labor. Please
contact Boss Pet Products Customer Service at 1-800-638-5754 regarding any defective product. Boss Pet Products will not be liable under this warranty for any defect, failure or
malfunction of this product caused by normal wear, abuse, misuse, unauthorized adjustments or repairs. Boss Pet Products will not be liable for any incidental or consequential
damages of any type. Any implied warranty is limited to the one-year period provided in this express warranty. Some states do not allow limitations on how long an implied

warranty lasts or exclusion or limitation of incidental or consequential damages, so the above limitations or exclusions may not apply to you. Warranty is void if product has been
modified in any manner, repaired by anyone other than Boss Pet Products or has been subject to unreasonable use. Warranty is valid in the United States.

Date Purchase: bpp TP6293 95 Master Equipment
boss pet products Easy-Lift Grooming Table

Manufactured for
© Boss Pet Products, Inc., Danvers, MA 01923
MADE IN CHINA

REV. 1/23



